Year —Revision 17—solving multi-step problems

4 bananas cost the same as 5 apples.

1 banana costs 85p.

How much does 1 apple cost?

Mary uses coloured beads to make small and large pictures.

Each large picture needs 55 beads. Each small picture needs 32 beads.

Mary makes 15 large and 8 small pictures. How many beads does she need altogether?




Year —Revision 17—solving multi-step problems

5 friends order some pizza.

A large pizza costs £10.90 and a small pizza costs £8.50.

They order 2 large and 2 small pizzas and split the cost equally.

How much do they each pay?

A box contains trays of apples.
There are 4 trays in a box.
There are 18 apples in each tray.

How many apples are there in 8 boxes?
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Mark, Bill, Frank and Fred are delivering leaflets. They have 3000 leaflets to deliver.

Mark and Bill deliver 650 each. Frank and Fred share what's left equally.

How many does Frank deliver?

6 people pay £15 each to be a member of a craft club.

This money is used to buy each member a metre of material, 4 sewing needle and a craft bag.
A metre of material costs £3.50.

A box of 8 sewing needles cost £2.10.

A craft bag costs £5.

How much money does the club have left over?




